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Note : Question no. 1 is compulsory. Attempt any 
five questions from questions no. 2 to 8. 

1. (a) Fill in the blanks : 	
5)(1=5 

(i) gives rise to phellem or cork 

on the outside and phelloderm on the 

inside. 

(ii) In Gymnosperms the seeds are 

(iii) Morphine and Codeine are obtained 
from the latex of capsules of 

(iv) Corn is a modified 

(v) In climbing plants a portion of the leaf 

gets modified as 	 
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(b) Choose the correct answer : 	 5x1=5 
(i) Lateral roots 	are 	endogenous/ 

exogenous in origin. 
(ii) Pollen grains of Pinus are winged/ 

sticky. 
(iii) When stamens are fused with the 

corolla they are called epipetalous/ 
polypetalous. 

(iv) Gynostegium is characteristic of the 
family Apocynaceae/Asclepiadaceae. 

(v) Cloves are the unopened buds of Piper 
Nigrum I Eugenia Caryophyllata. 

(c) Match the following : 	 5)(1=5 
(i) Monadelphous 	I. Sago 

stamens 

(ii) Arachis hypogea II. Aril 
(iii) Pitcher plant 	III. Ground nut 
(iv) Cycas circinalis IV. Carnivorous plant 
(v) Litchi 	V. Malvaceae 

2• (a) Explain any four of the follOwing : 	4x1=4 
(i) Sapwood 
(ii) Parthenocarpy 
(iii) Self-pollination 
(iv) Sulphur shower 
(v) Abscission 
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(b) Enumerate eight important characteristics 

of gymnosperms. 	
4 

(c) Enumerate the distinguishing features of 
family Lamiaceae/Asteraceae. 	 4 

3. Draw well-labelled diagrams of any three of the 

following 	
3x4=12 

(a) V.S. microsporophyll of Cycas 

(b) T.S. of mature anther of angiosperm 

(c) Axile placentation 

(d) Collenchyma cell 

(e) L.S. of fruit of coconut 

4. Write notes on any three of the following : 	3x4=12 

(a) Rewards to the Pollinators 

(b) Economic importance of Gymnosperms 

(c) Uses of rice 

(d) Characteristic features of Fabaceae/Poaceae 

5. (a) Give the scientific name, family, part used 

	

and uses of any fibre or medicinal plant. 	4 

(b) Describe the structure of phloem tissue. 	4 

(c) Describe the morphology of Pinus shoot. 	4 
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6. (a) Describe the two types of seed appendages. 
How are they useful to the plant ? 	 4 

(b) Describe the steps involved in the processing 
of sugarcane juice to produce sugar. 	4 

(c) Differentiate between simple and compound 
tissue. 	

4 

7. (a) Describe the structural characteristics of 
the leaves of arid regions. 	 4 

(b) Distinguish between fatty oils and essential 
oils. Give uses of any one of them. 	 4 

(c) Describe the vegetative and floral structure 
of the family Liliaceae/Cucurbitaceae. 	4 

8. (a) Describe the various steps involved in the 
processing of tea. 

(b) "Angiosperms are considered as the most 
dominant group of plants." Comment. 	8 
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u9T 114R : 5x/=5 

(i) '4Ig4 4 *r Ze:r1W atdqfdrqWa.  ildl 
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(Tr) PHIZIRga 	 : 	 5x1=5 
(i) W+litft jkeT 	I. TaTil- 
(ii) ell 	II . tku 
(iii) .4dtluir 
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